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CLASS: XII Slip Test - 1 Time : 1.30 Hrs
Maths Maxi. Marks: 50
I. Choose the correct answer 10X1=10

1. The conjugate of a complex number is % Then the complex number is
1 -1 -1 1
1) — 2) - 3) = 4) =
2.1f Z is a non zero complex number, such that 2i z2 = Z then |z| is
1)3 2)1 3)2 4)3
3. The solution of the equation |z| -z=1 + 2iis
3 . -3 . 3, 3,
11)5— 20 2)74‘ 20 3)2—5l1 4)2+El
4, If% is purely imaginary , then |z| is 1) > 2)1 3)2 4)3

.. 3 . —57 21 —-37 -
5. The principal argument ofm is 1) — 2) - 3) - 4) -

6.1f w # 1 is a cubic root of unitand (1 + w)7=A + Bw, then ( A, B) equals
1) (1,0) 2) (-1,1) 3)(0,1) 4) (1.1)
7.1f a and B are the roots of x2 + x + 1 = 0, then o 2020 + 3 2020 jg -2 2)-1 3)1 4)2
8. The value of (:gt) v is 1) cis Z?H 2) cis 4?” 3) -cis 2?71 4) - cis 43—”
n-1 n-1
9. The product of the n roots of nth roots unity is 1) (-n)n? 2) (D)t 3)(-1)z 41z
10. The value of 100 + j101 4 j102 4 {103 jg o 2)1 3)-1 4)2
Part-B
II. Answer the following 4 questions (Q.No: 16 is Compulsory) 4x2=8
11. Simplify : Y12, i"+50
12.1fZ1=1-3i,Z,=-4iand Z3 =5, show that (Z1 + Z3) + Z3 = Z1 + (Z2 + Z3)
13.Find Z71,ifZ= (2 +3i) (1-1)
14. Find the modulus of the complex number 2i (3 - 4i) ( 4 - 3i)
15. Write the polar form of a complex number - 2 - i2
16. Show that |Z + 2 - i| < 2 represents interior points of a circle. Find its centre and radius
Part - C
III. Answer the following 4 questions (Q.No: 22 is Compulsory) 4x3=12
17. Find the values of the real numbers x and y, if the complex numbers
(3-1)x-(2-i)y+2i+5and 2x+ (-1 +2i)y+3+2iare equal

18. Simplify : (1%1) - (E) into rectangular form
19. Find the square root of 6 - 8i
20. Obtain the Cartesian form of the locus of Zin | 2z - 3 -i| =3
2LIf(x1+iy1) (X2 +1y2) (X3 +1 y3) coe. (Xn +1yn) =a +1ib show that
1) (%1% + y12) (x2? + y2?) (X3% + y3?) w.o.. (Xn? + yu?) = @% + b2
i) ¥r_, tan 1 (z—:) =tan-! (g) +2Km,KeZ

1+sinT+ i cos— 10
22. Find the value of (%)
1+stn1—0 - lcosl—0
Part-D
IV. Answer the following 4x5=20

23.a) Suppose Z1, Z; and Z3 are the vertices of equilateral triangle inscribed in the circle
|z| =2.1fZ; = 1 +iV3, then find Z; and Z3

(OR)
b)If2cosa=x+%and2cosB=y+§showthat
NX Y ) . ﬁ-ﬁ: .. )
1);+;-2cos(a B) H)yn e 2 isin (mo - nf)
24.a)IfZ=x+iyandarg(%)=%showthatx2+y2+3x-3y+2=0
(OR)

b) Let Z1, Z> and Z3 be complex numbers such that |Z1| = | Z2| = |Z3| =r >0 and

2, Zy+Zy 25+ 257
Z1+Z; + Z3 # 0 prove that |=—=2—=2=2—==2
742,423

25.a) Show that i) (2 +iv3)°- (2 - iv/3 ) is purely imaginary
12 12
0" o)
(OR)

b) State and prove triangle inequality
26.a) i)If|Z|=1,showthat2<|Z? —3| <4

ii) Find the value of ¥5_, (cos% + isinZRTn )
(OR)
b) If Z = x +iy is a complex numbers such that Im (

2z+1
iz+1

) = 0 show that the locus of z
is2x2+2y2+x-2y=0
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